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1. Perform the operations as indicated.

3 1 3
£) 13- )+ (15 — =
0 (33)+(13) + 1
2. Simplify each of the following.

(a) (—2xy3)2 rydr? =
(3a1%)” (2a%)"

b —
(b) (2ab)*
4 2
(©) (72:1:23/3) xy? (2:1:2y) _
(22)? (222y)"
_ 942 _
3. Evaluate the expression M if
2a — 5
(a) a=0
(b) a=2
1
(c) a= 3
1
d) a=—
(@) a=—
1
—1=
() a=13
1
f) a=2=
(t) a=2]

4. Consider the equation 1622 + 623 +1 = —2% +4 (2 + 1) For each of the numbers given, determine
whether it is a solution of the equation or not.
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(d) z = —%

5. Solve each of the following equations. Make sure to check your solutions.

(a) 2 +3 1
S 2—_ -
3 5 15
(b) 5z —3=-13

20 —1

=-3

() =

T
d =—-1=-3
@ 7

6. Word Problems.

(a) A TV is priced at $ 500. How much would it cost if it went on a 18% sale?

(b) We have placed $ 8000 in a bank account with an annual interest rate of 7%. How much money
do we have in the account after one year?

(c) Ann took four exams. Her scores on the first three exams were 68, 72, and 81. How many
points did she earn on the fourth exam if her average is 767

(d) If we add 5 to the opposite of a number, we get —8. Find this number.

7. Consider the equations 2z +y = —1 and =z —y = —5.

(a) Graph these lines in the same coordinate system. Use your graph to find the coordinates where
the points intersect.

(b) Use algebraic methods to check your answer for part a).



